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The objective of this study is to examine the relationships between the current.
expenditure and capital expenditure of the Government and the GDP of Thailand by using the
secondary data gathered quarterly, covering from 1998 to 2009, or the total of 48 quarters. The
three variables used in the study were current expenditure, capital expenditure and GDP. The
technique used for the analysis was cointegration.

The results of the study were divided into four steps. Firstly, the unit root test found that
the three variables were stationary with the first difference at the significance level of 0.01.
Secondly, the cointegration test indicated that current expenditure had a long-term relationship
with the GDP, whereas capital expenditure had no long-term relationship with the GDP. Thirdly,
the Error Correction Mechanism test, a short-term adaptation process test at the significance level
of 0.10, showed that only the current expenditure and the GDP had a short-term adaptation
towards a long-run equilibrium. Lastly, the results of the Granger Causality test showed a two-
way relationship between the current expenditure and the GDP, however the capital expenditure
had no relationship with the GDP.





